Bellwork Alg2  Tuesday, November 19, 2019
1. Solve this Quadratic Equation by graphing. Round to the nearest hundredth.

4x% +23x = 21

2. Solve this Quadratic Equation by factoring.

2x2 —13x = 24

_ =b+ Jb*-4ac

3. Solve this Quadratic Equation using the Quadratic Formula. x = 7

3x2+8x—-13=0
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1. Solve this Quadratic Equation by graphing. Round to the nearest hundredth.
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2. Solve this Quadratic Equation by factoring.
2x%2—13x =24
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3. Solve this Quadratic Equation using the Quadratic Formula.  x = L zba B
q=3
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3x*+8x-13=0 c =3
b*-dac = 22-4(3)-13)= 220
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